0.05

0.04:

Ip, Card 1, raw

0.00E.

- level #1 =0.011325124 ]
" level #2 = 0.021327230

5

: rawdata gsai_O1. adatavolts mput_

01

-1.5 10 -0.5 0.0 05 10 1.5

0.05

0.04¢

Ip, Card 2, raw
o
o
w

o
o
=

0.00t..

o
o
N

time [s]

level #1 = 0.0098556191
" Jevel #2 = 0.019827939

5

: rawdata gsai_ 02 adatavolts mput_

01

-1.5 10 -0.5 OO 05 10 1.5

o
)
o

lor1au, Card 1, raw
o o
[ [
o o1

o
o
al

time [s]

| level #1 = 0.040291142
| level #2 = 0.080000732

I rawdata gsai_| 01 adatavolts mput_

0.00L..

02

-1.5 10 -0.5 OO 05 10 1.5

time [s]

Ip, Card 1, conditioned

lor1au, Card 1, conditioned

Ip, Card 2, conditioned
N
o

-1.5 -1.0 -0.5 0.0 0.5 1.0
time [s]

N
o

-1.5 -1.0 -0.5 0.0 0.5 1.0
time [s]

=
o

o O
o ™

o
N

o O
> b

L
. level #1 = 0.016357671
7 level #2 = 10.018463

w
o

[EY
o

o

L
| level #1 = 0.027588312
- level #2 = 9.9999084

o
~

o
o

[ level #1 = -0.00020447089
[ level #2 = 0.19834348

2552

3 condmoned channels gsal 01 Inr.

ut_02

-15 10 -0.5 OO 05 10 1.5

time [s]



1oy, Card 1, raw lor10us Card 2, raw

lor1pus Card 2, raw

0.20

0.15

0.10

0.05

0.00L..

| level #1 = 0.040875135
| level #2 = 0.080715587

I rawdata gsai_02. adatavolts mput_

02

-1.5 10 -0.5 0.0 05 10 1.5

0.20

0.15'

0.10

0.05!

time [s]

| level #1 = 0.078629862 ]
;'QVQ' EZE Q1758§-Q§Q§mf — 7:

| 2552

I rawdata gsai_ 01 adatavolts mput_

0.00L..

03

-1.5 10 -0.5 OO 05 10 1.5

0.20

0.15'

0.10

0.05

time [s]

| level #1 = 0.080912856 ]
- level #2 = 0.16079786, e — —

. 2552

I rawdata gsai_| 02 adatavolts mput_

0.00L..

03

-1.5 10 -0.5 OO 05 10 1.5

time [s]

lor1pus Card 1, conditioned lor1au, Card 2, conditioned

lpr.1pus Card 2, conditioned

1.0
0.8+

0.6

0.4
0.2}
0.0¢

-0.2¢
0.4}

[ level #1 = -0.00015930419
[ level #2 = 0.19904295

- 2552

3 condmoned channels gsal 02 In|E

ut_02

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+

0.6

0.47
0.2f
0.0f
-0. 27

0.4/

time [s]

[ level #1 =-3.1738766e-05
[ level #2 = 0.19966369

2552

3 cond|t|oned channels gsal 01 In|E

ut_03

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+

0.6

0.47
0.2f
0.0f
-0. 27

-0.4|

time [s]

[ level #1 = 6.6529335e-05
[ level #2 = 0.19977905

2552

3 condmoned channels gsal 02 Inr.

ut_03

-15 10 -0.5 OO 05 10 1.5

time [s]



lpr1cus Card 2, raw lorcus Card 1, raw

loroy, Card 1, raw

0.20

0.10}

0.05!

0.00L..

| level #1 = 0.078383032

| level #2 = 0.16031543 ]
0.15

| 2552

I rawdata gsai_O1. adatavolts mput_

04

-1.5 10 -0.5 0.0 05 10 1.5

0.20

0.15]
0.10}

0.05!

0.00L..

time [s]

| level #1 = 0.078585916 ]
L level #2 = 0.1613200% emmmiots — —|

| 2552

I rawdata gsai_ 02 adatavolts mput_

04

-1.5 10 -0.5 OO 05 10 1.5

0.20

0.15]
0.10}

0.05!

time [s]

| level #1 = 0.040357549
| level #2 =0.080138674

. 2552

I rawdata gsai_| 01 adatavolts mput_

0.00L..

05

-1.5 10 -0.5 OO 05 10 1.5

time [s]

lpr1cuy Card 2, conditioned lor1cu, Card 1, conditioned

lory, Card 1, conditioned

1.0
0.8+

0.6/
0.4/
0.2f
0.0f
-0. 27

0.4}

[ level #1 =-2.7771420e-05
[ level #2 = 0.20480323

2552

3 condmoned channels gsal 01 In|E

ut_04

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+

0.6/
0.4/
0.2f
0.0f
-0. 27

0.4/

time [s]

[ level #1 =-2.7161059e-05
[ level #2 = 0.20680827

2552

3 cond|t|oned channels gsal 02 In|E

ut_04

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+

0.6/
0.4
0.2f
0.0f
-0. 27

-0.4|

time [s]

[ level #1 =-3.4180209e-05
[ level #2 = 0.19887144

2552

3 condmoned channels gsal 01 Inr.

ut_05

-15 10 -0.5 OO 05 10 1.5

time [s]



loray, Card 1, raw loroy, Card 2, raw

loray, Card 2, raw

0.20
| level #1 = 0.078534401

| level #2 = 0.16091334

0.15

0.10

0.05

0.00L..

. 2552

I rawdata gsai_02. adatavolts mput_
L b b

05

-1.5 10 -0.5 0.0 05 10 1.5

0.20
| level #1 = 0.039927855

| level #2 = 0.080531746

0.15

0.10

0.05

0.00L..

time [s]

I rawdata gsai_ 01 adatavolts mput_

06

-1.5 10 -0.5 OO 05 10 1.5

0.20
| level #1 = 0.080449226

| level #2 = 0.16028882
0.157

0.10

0.05

0.00L..

time [s]

I rawdata gsai_| 02 adatavolts mput_

06

-1.5 10 -0.5 OO 05 10 1.5

time [s]

lorsy, Card 1, conditioned loroy, Card 2, conditioned

lorsy, Card 2, conditioned

1.0
0.8+

0.6

0.4
0.2
0.0¢

-0.2¢
0.4}

[ level #1 =-7.0496681e-05
[ level #2 = 0.20587686

- 2552

3 condmoned channels gsal 02 In|E
L v v b0 |

ut_05

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+

0.6

0.47
0.27
0.0f
-0. 27

0.4/

time [s]

I level #1 = 0.00015808347
[ level #2 = 0.20317754

2552

3 cond|t|oned channels gsal 01 In|E

ut_06

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+

0.6

0.47
0.2f
0.0f
-0. 27

-0.4|

time [s]

[ level #1 =-4.5777066e-06
[ level #2 = 0.19959442

2552

3 condmoned channels gsal 02 Inr.

ut_06

-15 10 -0.5 OO 05 10 1.5

time [s]



lor4, Card 2, raw lor4, Card 1, raw

lorg, Card 1, raw

| level #1 = 0.067302052

| level #2 = 0.13304182 ]
0.15+ .

0.10}

0.05| i
| 2552 ]

I rawdata gsai_O1. adatavolts |nput_07

0.007\ L v b b | |

-1.5 10 -0.5 0.0 05 10 1.5
time [s]

| level #1 = 0.066767620

| level #2 = 0.13496544 ]
0.15+ .

0.10}

0.05| i
| 2552 ]

I rawdata gsai_ 02 adatavolts |nput_07
oo0OL ... ...~ =

-1.5 10 -0.5 00 05 10 1.5
time [s]

| level #1 = 0.039424918

| level #2 = 0.079491203 ]
0.15+ .

0.10}

0.05F !

rawdata gsai_| 01 adatavolts |nput_08

000 .. ... 0 T

-1.5 10 -0.5 00 05 10 1.5
time [s]

lo4, Card 2, conditioned lor4, Card 1, conditioned

IPF s, Card 1, conditioned

1.0
0.8+

0.6

0.4
0.2}
0.0¢

-0.2¢
0.4}

[ level #1 = 0.00010986496
[ level #2 =0.19732918

- 2552

3 condmoned channels gsal 01 In|E
L v v b0 |

ut_07

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+

0.6

0.47
0.27
0.0f
-0. 27

0.4/

time [s]

| level #1 = 0.00010327306
| level #2 = 0.20469673

2552

3 cond|t|oned channels gsal 02 In|E

ut_07

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+

0.6

0.47
0.2f
0.0f
-0. 27

-0.4|

time [s]

[ level #1 = 2.6855879e-05
[ level #2 = 0.20035828

2552

3 condmoned channels gsal 01 Inr.

ut_08

-15 10 -0.5 OO 05 10 1.5

time [s]



lorg, Card 1, raw lorg, Card 2, raw

lorg, Card 2, raw

0.20

0.15

0.10

0.05

0.00L..

| level #1 = 0.080494392
| level #2 = 0.15994946

rawdata gsai_02. adatavolts mput_

08

-1.5 10 -0.5 0.0 05 10 1.5

0.20

0.15

0.10

0.05

0.00L..

time [s]

| level #1 = 0.040184939
| level #2 = 0.079768307

I rawdata gsai_ 01 adatavolts mput_

09

-1.5 10 -0.5 OO 05 10 1.5

0.20

0.15

0.10

0.05

time [s]

| level #1 = 0.079235584
| level #2 = 0.15946679

I rawdata gsai_| 02 adatavolts mput_

0.00L..

09

-1.5 10 -0.5 OO 05 10 1.5

time [s]

lor5., Card 1, conditioned lors, Card 2, conditioned

lor5., Card 2, conditioned

1.0
0.8+

0.6/
0.4/
0.2f
0.0f

-0.2¢
0.4}

[ level #1 = -4.7302968e-05
[ level #2 = 0.19859037

- 2552

3 condmoned channels gsal 02 In|E
L v v b0 |

ut_08

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+
0.6
0.4/
0.2
0.0"

-027

0.4/

time [s]

[ level #1 =1.2207218e-05
[ level #2 = 0.19792905

2552

3 cond|t|oned channels gsal 01 In|E

ut_09

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+

0.6/
0.4
0.2f
0.0f
-0. 27

-0.4|

time [s]

[ level #1 = -0.00019439994
| level #2 = 0.20038361

2552

3 condmoned channels gsal 02 Inr.

ut_09

-15 10 -0.5 OO 05 10 1.5

time [s]



loro, Card 2, raw loro, Card 1, raw

lor.1o, Card 1, raw

0.20

0.15

0.10

0.05

0.00L..

| level #1 = 0.038828473
| level #2 = 0.078754864

L 2992

I rawdata gsai_O1. adatavolts mput_

10

-1.5 10 -0.5 0.0 05 10 1.5

0.20

0.15

0.10

0.05

time [s]

| level #1 = 0.080237797
| level #2 = 0.16060645

L 2992

I rawdata gsai_ 02 adatavolts mput_

0.00L..

10

-1.5 10 -0.5 OO 05 10 1.5

0.20

0.15"

0.10

0.05

time [s]

| level #1 = 0.039149523
| level #2 = 0.079447257

L 2552

I rawdata gsai_| 01 adatavolts mput_

0.00L..

11

-1.5 10 -0.5 OO 05 10 1.5

time [s]

loo, Card 2, conditioned loo, Card 1, conditioned

lor1c,» Card 1, conditioned

1.0
0.8+

0.6

0.4
0.2}
0.0¢

-0.2¢
0.4}

| level #1 = 0.00035889220
I level #2 = 0.19999084

- 2552

3 condmoned channels gsal 01 In|E
L v v b0 |

ut_10

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+

0.6

0.47
0.2f
0.0f
-0. 27

0.4/

time [s]

[ level #1 =-8.2398718e-06
[ level #2 = 0.20091341

2552

3 cond|t|oned channels gsal 02 In|E

ut_10

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+

0.6

0.47
0.2f
0.0f
-0. 27

-0.4|

time [s]

[ level #1 = 0.00015136950
[ level #2 = 0.20164004

2552

3 condmoned channels gsal 01 Inr.

ut_11

-15 10 -0.5 OO 05 10 1.5

time [s]



lpr1p, Card 1, raw lorqc, Card 2, raw

lor.1p, Card 2, raw

0.20
| level #1 = 0.041308003

| level #2 = 0.081031998

0.15

0.10

0.05

-1.5 10 -0.5 0.0 05 10 1.5

0.20
| level #1 = 0.078429419

L level #2 = 0.16124004 B
0.15

0.10

0.05/
| 2552

I rawdata gsai_02. adatavolts mput_

0.00L..

time [s]

I rawdata gsai_ 01 adatavolts mput_

0.00L..

-1.5 10 -0.5 OO 05 10 1.5

0.20[
| level #1 = 0.079122301

| level #2 = 0.158 348 Quuerumsy

0.15

0.10

0.05/
| 2552

time [s]

I rawdata gsai_| 02 adatavolts mput_

0.00L..

-1.5 10 -0.5 OO 05 10 1.5

time [s]

11

12

12

lor1p, Card 1, conditioned lor1c,» Card 2, conditioned

lpr1p, Card 2, conditioned

1.0
0.8+

0.6

0.4
0.2}
0.0¢

-0.2¢
0.4}

[ level #1 = 0.00013733120
[ level #2 =0.19875731

- 2552

3 condmoned channels gsal 02 In|E
L v v b0 |

ut_11

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+

0.6

0.47
0.27
0.0f
-0. 27

0.4/

time [s]

[ level #1 = 8.0567636e-05
[ level #2 = 0.20718212

2552

3 cond|t|oned channels gsal 01 In|E

ut_12

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+

0.6

0.47
0.2f
0.0f
-0. 27

-0.4|

time [s]

| level #1 =-7.1717403e-05
[ level #2 = 0.19805203

2552

3 condmoned channels gsal 02 Inr.

ut_12

-15 10 -0.5 OO 05 10 1.5

time [s]



lpr1a, Card 2, raw lorqq0, Card 1, raw

loy, Card 1, raw

0.20
| level #1 = 0.079422110

| level #2 = 0.15991284 e en |
0.157

0.10

0.05/
| 2552

I rawdata gsai_O1. adatavolts mput_

0.00L..

13

-1.5 10 -0.5 0.0 05 10 1.5

0.20
| level #1 = 0.081055192

L level #2 = 0.16074684 cewene — |
0.15}

0.10

0.05/
| 2552

time [s]

I rawdata gsai_ 02 adatavolts mput_

0.00L..

13

-1.5 10 -0.5 OO 05 10 1.5

0.20[
| level #1 = 0.080731212

| level #2 = 0.16064430, _ ]
0.15

0.10

0.05/
| 2552

time [s]

I rawdata gsai_| 01 adatavolts mput_

0.00L..

14

-1.5 10 -0.5 OO 05 10 1.5

time [s]

lor1a, Card 2, conditioned lor1a, Card 1, conditioned

loy, Card 1, conditioned

1.0
0.8+

0.6

0.4
0.27
0.0t

-0.2¢
0.4}

[ level #1 =-2.7161059e-05
[ level #2 = 0.20119966

- 2552

3 condmoned channels gsal 01 In|E
L v v b0 |

ut_13

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+

0.6

0.47
0.2f
0.0f
-0. 27

0.4/

time [s]

[ level #1 = -0.00012237736
[ level #2 = 0.19910674

2552

3 cond|t|oned channels gsal 02 In|E

ut_13

-15 10 -0.5 OO 05 10 1.5

1.0
0.8+

0.6

0.47
0.2f
0.0f
-0.27

-0.4|

time [s]

[ level #1 = -8.6976425e-05
[ level #2 = 0.19969574

2552

3 condmoned channels gsal 01 Inr.

ut_14

-15 10 -0.5 OO 05 10 1.5

time [s]



lte, Card 1, raw loy, Card 2, raw

lte, Card 2, raw

0.20
| level #1 = 0.080422370

| level #2 = 0.16065260,

0.15"

0.10

0.05!

0.00L..

| 2552

I rawdata gsai_02. adatavolts mput_
L

14

-1.5 10 -0.5 0.0 05 10 1.5

time [s]

0.20
| level #1 = 0.067384817

| level #2 =0.13241877

0.15

0.10

0.05!

0.00L..

| 2552

I rawdata gsai_ 01 adatavolts mput_

15

-1.5 10 -0.5 OO 05 10 1.5

0.20[
| level #1 = 0.065112566

| level #2 = 0.13269660

0.15

0.10

0.05/
| 2552

0.00L..

time [s]

I rawdata gsai_| 02 adatavolts mput_

15

-1.5 10 -0.5 OO 05 10 1.5

time [s]

I+, Card 1, conditioned lon, Card 2, conditioned

Iz, Card 2, conditioned

1.0
0.8+

0.6/
0.4/
0.2f
0.0f

-0.2¢
0.4}

[ level #1 =-0.00016174563
[ level #2 = 0.20041382

- 2552

3 condmoned channels gsal 02 In|E
L v v b0 |

ut_14

-15 10 -0.5 OO 05 10 1.5

20

15

0.0+

050

1.0+

0.5}

time [s]

- level #1 = 0.00060059510 ]
 level #2 = 0.97610986 ]

W ***** .

I cond|t|oned channels gsal 01 In|c

ut_15

-1.5 10 -0.5 OO 05 10 1.5

20

15

0.0+

-0.5L0..

1.0+

0.5}

time [s]

- level #1 = -0.00033142596 ]
" level #2 = 1.0134292 ]

W 77777

I condmoned channels gsal 02 In|c

ut_15

-1.5 10 -0.5 OO 05 10 1.5

time [s]



